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UGC NET 2021 Urdu
Topic:- GP_24NOV_SH2_A
1) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees|

DepartmentsTotal Numberz\at]o Total Number Rat1:
IT 250 1 |1 240 2 |1
IAccounts 123 2 |11 130 3 2
HR 90 3 |2 (30 2 1
Marketing 350 5 (2 343 5 (2
Production (304 5 |3 [351 5 4

AIfeTapT BT 31RIel B2 3R 3AD ofld G o310 gesll D 3az ¢ &
ofid &t o1 afernt 3 b=l Fero01 B fAffioot femell d wor eIl bt iz aen gy 3iiR afden sropura G sk 3

forerfare aatest riferer smenfea wafarst
feor BT AR P el AT el

= g>Y @fden| ~ g @fdelr
o & 250 |1 [ 1] 240 [2] 1
craat 123 [ 2 [ 1] 130 [3]2
oo wamerst | 90 | 3 [ 2| 30 [ 2] 1
IRavror 350 |52 343 [5]2
fgeureat 304 [5[3] 351 [5] 4

Find out the average number of regular female employees in the organization.

Jorool 3 forafdra aifdcn wafanfent & siiaa Fizear sird @3 :

[Question ID = 1211][Question Description = S2_qSNz_PG_GP16_Q01]
83.20/83.20 [Option ID = 4841]
81.25/81.25 [Option ID = 4842]
78.50/78.50 [Option ID = 4843]
79.40/79.40 [Option ID = 4844]

A wnN -

Correct Answer :-
e 83.20/83.20 [Option ID = 4841]

2) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal Numbe :\atlo Total Number Rat1:
IT 250 1 |1 240 2 1
iAccounts 123 2 1 130 3 2
HR 90 3 |2 (30 2 1
Marketing (350 5 |2 343 5 |2
Production (304 5 |3 [351 5 |4

AIfIDT DI 3MERIGT D3 3R IAD ofid 3w 18 yesli S IR S &
oif<l €I o1$ earfercor 3 bl Foro01 @ fdf¥ioot famell 3 ager watenfyl oI Fizsn aen g il #Afdenr srefurd f¢ar sk &




me Briffa ol Rrer snenfea wefardt
. |sropara . requr
oet e gay (#fc Bt e >y #fgen
o€ & 250 [ 1 [ 1] 240 [2] 1
craat 123 [ 21| 130 [3]2
oo wizerot | 90 | 3 [ 2| 30 [ 2]
IRroror 350 | 5|2 343 [5] 2
fseumeat 304 [5[3] 351 [5] 4

Find out the difference between regular male employees and contractual male employees in the organization.

Joroa d forifda gy wefani=Il 3ii? 2ifder snenfea ysy il &l Iz oI 3iar 31 @3 ©

[Question ID = 1212][Question Description = S2_qSNz_PG_GP16_Q02]
2/2 [Option ID = 4845]
3/3 [Option ID = 4846]
4/4 [Option ID = 4847]
5/5 [Option ID = 4848]

A wWN =

Correct Answer :-
e 2/2 [Option ID = 4845]

3) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees|

DepartmentsTotal Numberz\at]o Total Number Rat1:
IT 250 1 |11 240 2 1
lAccounts 123 2 1 130 3 2
HR 90 3 |2 (30 2 1
Marketing 350 5 (2 343 5 (2
Production (304 5 [3 351 5 |4

AIfeTapT BT 31RIel B2 3R 3AD ofld G a0 gesll D 3az ¢ &
ol & o1 afernt 3 b=t Fero01 B fAffteoct fmell 3 wor =il B iz aen gy iR afden sopura R sk 3

RrifY wsfarft  pifdicr amenfya afarst
femor BT AT P el AT el

- >y @fden| ~ g @fdenr
o & 250 |1 [ 1] 240 [2] 1
craat 123 [ 21| 130 [3]2
oo wamerst | 90 | 3 [ 2| 30 [ 2] 1
IRavror 350 |52 343 [5]2
fgeureot 304 [5[3] 351 [5] 4

What is the respective ratio of the total number of female employees in the marketing department to the total number of
female employees in the production department?

frauret fesirer 3 aifden walanf¥Il Bl ager e aen Ieurcol fasier i afden eyl &I et e @ i o siopurd 3 ?

[Question ID = 1213][Question Description = S2_qSNz_PG_GP16_Q03]
12/13/12/13 [Option ID = 4849]
11/13/11/13 [Option ID = 4850]
12/17/12/17 [Option ID = 4851]
11/15/11/15 [Option ID = 4852]

AW N -

Correct Answer :-
e 12/13/12/13 [Option ID = 4849]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.




Regular Employees |Contractual Employees|

DepartmentsTotal Numberz\at]o Total Number Rat1:
IT 250 1 |11 240 2 |1
lAccounts 123 2 |11 130 3 2
HR 90 3 2 |30 2 |1
Marketing |[350 5 (2 343 5 (2
Production (304 5 |3 [351 5 4

AIfeTehT BT 31¢RIel B2 3R 3AD ofld CU o108 gesll D 3az ¢ &
ofid & o1 afernt 3 b=l FeTo01 B fAfftoot femell d wor ¥l bt iz aen gy iR afden sropura G sk 3

forrfare aatemst Riferer smenfea wafarst
[T el I P el AT P

- gy @fden| ~ U @fdelr
orrg & 250 1 1 240 2 |1
I 123 2 1 130 3| 2
FHIoTd FHATECT 90 3| 2 30 2|1
[feraotet 350 5| 2 343 5| 2
lgeureat 304 [5[3] 351 [5] 4

Find out the difference between the number of contractual male employees and the number of contractual female
employees in the organization.

3Jis1o01 d Jifecr senfya gy il &I A aea 2ifder snenf¥a Afden wafanfRil b e @ dia siar s @3 ¢

[Question ID = 1214][Question Description = S2_qSNz_PG_GP16_Q04]
298/298 [Option ID = 4853]
295/295 [Option ID = 4854]
302/302 [Option ID = 4855]
307/307 [Option ID = 4856]

A W N -

Correct Answer :-
® 298/298 [Option ID = 4853]

5) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees|

DepartmentsTotal Number:\at]o Total Number Rat1:
IT 250 1 (1 240 2 1
IAccounts 123 2 (1 (130 3 2
HR 90 3 |2 30 2 1
Marketing (350 5 |2 343 5 |2
Production (304 5 |3 |351 5 |4

AIfeTapT BT 31¢RIoT @3 3 3AD ofld 3 318 gesll b 3az ¢ &
oifax &t or¢ aferopt 3 bl vistoo1 @ fafdicot fmimell I et wefari¥l &I v asn ysy ik aifden sopurda &= srm 3

Braf wofart  pifiar smenfya wafarst
[fers T . SreUred . SroIare
ot e gsy afden > e o @Afden
s & 250 | 1| 1] 240 [2] 1
eraar 123 [ 2 1] 130 [3]2
ot sizmes | 90 | 3 | 2| 30 |2 1
IRrcroror 350 | 5| 2| 343 [5] 2
fpruareat 304 |5|3] 351 [5] 4

Which department has the highest number of female employees?



fooa fasier & aifden wafanf¥t & Aaiftre dwcn 3 ?

[Question ID = 1215][Question Description = S2_qSNz_PG_GP16_Q05]
1. IT/am & [Option ID = 4857]

2. Production/3eureer [Option ID = 4858]

3. Accounts/erar [Option ID = 4859]

4. Marketing/fuurer [Option ID = 4860]

Correct Answer :-
e |T/am ¢ [Option ID = 4857]

Topic:- GP_24NOV_SH2_B

1) Which of the following is the highest level of teaching?

forgotfeilRaa af A ol AT I Tz a1 forsmor 3 ?

[Question ID = 1216][Question Description = S2_qSNz_PG_GP16_Q06]
1. Memory/zafer [Option ID = 4861]

2. Understanding/dler [Option ID = 4862]

3. Reflective/faeff [Option ID = 4863]

4. Thinking/fidor [Option ID = 4864]

Correct Answer :-
e Memory/fer [Option ID = 4861]

2) Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

faponzt &t foerfeiRaa 3 A @lor 2t fadrgars 3 ?

A. @RI B BRIqUI 3 gl Fadgar

B. diiq srcifasiform uf¥ador

C. smarcaA® »u A uluga

D. aif¥Sc eReivr A Rgar wwon

E. et el & e sifefaf?ril ue sifires exmet Soir

sifd fu sru frapeul 3 3 Bl IR DI RIS DIfSTU :

[Question ID = 1217][Question Description = S2_qSNz_PG_GP16_Q07]

A and B only/dact A siiz B [Option ID = 4865]

A, B and C only/d@act A, B siiz C [Option ID = 4866]
A, B and D only/@aet A, B siiz D [Option ID = 4867]
A, B and E only/dact A, B 3iiz E [Option ID = 4868]

AW N =

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 4865]

3) Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

forgstfeiRae 3t A olot A sifeera @5 A Prdt dR® 3 ?



A. IRDHEI ofifer

B. sférgrom

C. arfdsgrarar

D. aifirsfr

E. siifrp gfems

ofi o o1 faseal & A A8 IR BT WRI6! HIfRdIT :

[Question ID = 1218][Question Description = S2_qSNz_PG_GP16_Q08]

. A, B and C only/daet A, B 3iiz C [Option ID = 4869]
. B, Cand D only/asae B, C siiz D [Option ID = 4870]
. C,DandE only/aae C, D siz E [Option ID = 4871]
. A, Band E only/aaet A, B siiz E [Option ID = 4872]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 4869]

4) Match List | with List Il

List | List Il

Institutions Offering Courses Through SWAYAM [Level of Education

IA. NCERT I. Post school education

B. IGNOU Il. Undergraduate education
C. CEC Ill. Postgraduate education
D. UGC IV. School Education

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxc -1 et -1l
(TRl D ATEAH A VI AdIferd w2l arcil Fizend ) |(fArgmor o1 FaR)

A. wol Al $ 3R & |. @t - IuRIed frenm
B. s30] Il. sraz Fomaa forgm
C. 2t € 2t lll. FemamraR fdign
D. g sit 3t IV. F@e g

il fou s1e frpeul 3 ¥ A IR gforw ©
[Question ID = 1219][Question Description = S2_qSNz_PG_GP16_Q09]

A-1V,B-1,C-1ll, D - Il [Option ID = 4873]
A-1V,B-1ll, C-1,D - Il [Option ID = 4874]
A-1V,B-1,C-Il,D - Ill [Option ID = 4875]
A-1V,B-1l,C-1ll, D - | [Option ID = 4876]

A W N -

Correct Answer :-
e A-IV,B-1,C-1ll,D- Il [Option ID = 4873]

5) In a learner-centric approach, a teacher should:

feErIpdl - DA 3uPH 3 151 oI -

[Question ID = 1220][Question Description = S2_qSNz_PG_GP16_Q10]

clarify concepts by citing examples/3cre2ur yzge @ s@enumnaii ®l Juse ol aifee [Option ID = 4877]

facilitate student learning/=rq @ siféeer @t siRier gotronr aife [Option 1D = 4878]

explain concepts by using adequate support materials/wzift JeRIE AW BT IWRIST BID JALMRUISI 6 RN Boit aifde [Option ID = 4879]
demonstrate inside the classroom/wgn @ sicz ygolol w2 fxaren aifde [Option ID = 4880]

A w N =

Correct Answer :-
e clarify concepts by citing examples/3c1au1 gzgd ®3d aerRusil ol use ool daifde [Option ID = 4877]

6) Independent verification of a research effort is known as

o=t ofler YRIRT o1 ¥adq AcATUel aRIT Baeldl & ?

[Question ID = 1221][Question Description = S2_qSNz_PG_GP16_Q11]
1. Enquiry/gcert [Option ID = 4881]

2. Probe/siia [Option ID = 4882]

3. Replication/yermgfer [Option ID = 4883]

4. Investigation/smdawur [Option ID = 4884]

Correct Answer :-



® Enquiry/gcet [Option ID = 4881]

7) Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. Identified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised

E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

forgotferfRaa 3 A ot 2l AqIca® 9Ner &bt fadraam 3 ?

A. gt Hep-IadRI 3l 3

B. aifdiforerifea o=l o1 sImuor fopen sirar 3

C. Yest Arerblapd X 3

D. afe yfergol oI st a1 3, dl forsadl @I 3iATell A ARII=AdvT foba ST A 3
E. #1906l I3 RT Dol Dol BXer 3

il feu sru faresedl 3 2 A8 IR DI WRIel B :

[Question ID = 1222][Question Description = S2_qSNz_PG_GP16_Q12]

. A, Band C only/daer A, B aiiz C [Option ID = 4885]
. B, Cand D only/@aet B, C siiz D [Option ID = 4886]
. C, D and E only/aaer C, D siiz E [Option ID = 4887]
. A, Cand E only/aqet A, C aiik E [Option ID = 4888]

A w N -

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 4885]

8) Given below are two statements
Statement I: Researchers in history are myth makers.
Statement Il: Various movements in social history- new history - have provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from the options given below

ofi &1 Dot Ru sme 3 ¢

ool - | : sftrert olerasat foreres - foraifar axa 3

et - || : armfore sferert - o sfererr # faftieol sticlcrll of sfersrt onerdalsil & forg 61U JIReITeT IucTetr BT 3
SWRITP Pl @ 3MIelld i, ofld 3w s1e Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 1223][Question Description = S2_qSNz_PG_GP16_Q13]

Both Statement | and Statement Il are correct/aerwr | 3iiz |l loil 218t 8 [Option ID = 4889]

Both Statement | and Statement Il are incorrect/@erwer | 3i2 1l X6l sieta & [Option ID = 4890]

Statement | is correct but Statement Il is incorrect/@erwet | 31t 8, fpoq et |l sieta & [Option ID = 4891]
Statement | is incorrect but Statement Il is correct/@emwt | a1 &, fboq et Il 3@t 8 [Option ID = 4892]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/emt | aiiz Il Gleil &t & [Option ID = 4889]

9) According to Wimmer and Dominick, the sequential steps in content analysis are:
A. Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

foer 3iiz SNAford & SRR farerIarq farasuur & fowaferRan vl @Y A8 o i 4 :
A. wrafte ot uf¥snfia wen



B. 3R yfercof @1 arIor @at

C. Rrea3uur &l s 3R ORI &I Fzden bl usdrel Bl

D. Jioyfda sripsi @l Geay ®oll, ReA3HuT w2l 3iiR forsat formreron

E. onerwal grr oner ussil = uf¥ascueinsil a1 forarfor w2

ofid o s1u fwseal & A A8 IR BT wRI6T BT :

[Question ID = 1224][Question Description = S2_qSNz_PG_GP16_Q14]

D, E [Option ID = 4893]
E, A [Option ID = 4894]
, A, B [Option ID = 4895]
C, D [Option ID = 4896]

A W N -

Correct Answer :-
e A B, C, D, E[Option ID = 4893]

10) Match List | with List Il

List | List Il

Ethical concepts Source

A. Categorical imperatives I. Aristotle

B. Utilitarianism Il. John Rawl

C. Golden mean lll. Immanuel Kant
D. Theory of justice IV. John Stuart Mill

Choose the correct answer from the options given below:

et -1 B e -1l A e e

et - | et -1l
(oiferes sraemzumg) ()

A. forzuer smer l. sReq

B. SurNfdrdararg Il. Sifer e

C. zavf aear I11. saegarct wic
D. s @1 Rigia IV. sifar ¥¢aré Brex

ofla fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 1225][Question Description = S2_qSNz_PG_GP16_Q15]

-1, B-1I,C-1ll, D - IV [Option ID = 4897]
<1, B-1ll, C- 1V, D - | [Option ID = 4898]
-1, B -1V, C-1,D - Il [Option ID = 4899]
<1V, B-1,C-1I, D - Ill [Option ID = 4900]

Sl
> > > >

Correct Answer :-
® A-I,B-1l,C-IlIl,D- IV [Option ID = 4897]

11) In the transactional type of communication, the elements are:

JxIasifea AYYT A, davd DA Bld & ?

[Question ID = 1226][Question Description = S2_qSNz_PG_GP16_Q16]
Independent/zadq [Option ID = 4901]

Inter-dependent/uuz forsfz [Option ID = 4902]

Neutral/aezer [Option ID = 4903]
Inactive/faiftazr [Option ID = 4904]

A WN -

Correct Answer :-
e [ndependent/zacd [Option ID = 4901]

12) Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:



forgotferiRaea 3 A o= sr9nfecd AYWUT DI YuIfdd e & ?

A. 3iddl @1 uf¥sr

B. sre9u faiaifer

C. sizmfa

D. silsiiftre sraf¥erfer

E. aichiodar

it fou o1 frpeul 3 A & IR BT w6l HIfSIE ¢

[Question ID = 1227][Question Description = S2_qSNz_PG_GP16_Q17]

A, B and C only/@aa A, B siiz C [Option ID = 4905]
B, C and D only/a@aet B, C siiz D [Option ID = 4906]
C, D and E only/@aa C, D siiz E [Option ID = 4907]
A, D and E only/d@act A, D iz E [Option ID = 4908]

AN wnN -

Correct Answer :-
® A, Band C only/aac A, B iz C [Option ID = 4905]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Communication must include the transfer and understanding of messages and their meanings.
Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options given below

ofid ol Pl fGu arw 3 @ ud s (Assertion A) @ U 3 3R GRI 3Ad PRI (Reason R) @5 »u 3 :
siftraserot (A) : =iduor & el stz Jordd areit T siczor aiiT dler srager ARARIT Aon nfdw

@Rl (R) : uf¥ygui AYUT BT €18 I DI TD ddoildl JHIRIAT 3

IURITP el B 3MIelid 3, ofi fGu el 3 A I IR BT TR DI :

[Question ID = 1228][Question Description = S2_qSNz_PG_GP16_Q18]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dleil 3@t 2 3z (R), (A) &t 3d waeen 8 [Option ID = 4909]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) clail 3@t 8 uzsq (R), (A) 6t 318 wmeen oidt 8 [Option ID = 4910]
3. Ais true but R is false/(A) 3t & udoqg (R) 3@l aiél & [Option ID = 4911]

4. Ais false but R is true/(A) 3@t oidt & weoq (R) &t 8 [Option ID = 4912]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) cleil 2@t 8 iz (R), (A) &t 3 =m=n & [Option ID = 4909]

14) According to Robbins et al, the sequence of communication functions is :
A. Control

B. Motivation

C. Emotional expression

D. Information

Choose the correct answer from the options given below

3ifreet ud 3[o1 @ IMGRIR AYHUI Gl DI ! QI TRIT 8 ?

A. foriqur

B. sifdrgzom

C. e fiIfp

D. Sioroert

il fou s1u freseul 3 A W IR BT a6l HIfSIE :

[Question ID = 1229][Question Description = S2_qSNz_PG_GP16_Q19]

B, C, D, A [Option ID = 4913]
D, A, C, B [Option ID = 4914]
. C, D, B, A [Option ID = 4915]
A, B, C, D [Option ID = 4916]

A W N -

’

Correct Answer :-
e B, C, D, A [Option ID = 4913]



15) Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

forgotferfiaa 3 A wlor A A AYHUT S TSIVT 3 ?

A. I aar

B. ¥ Sieiasdt &t spgureficrar

C. =¥ figar ol A usd 3AD ar A Aol

D. gerr geia o1 16l 3 3D 3161 dGolT

E. 31 - urt & el & yfer forfSaga saon

il feu aru faeedl 3 A A8 IR @1 WRIet B :

[Question ID = 1230][Question Description = S2_qSNz_PG_GP16_Q20]

A, B and C only/d@act A, B siiz C [Option ID = 4917]
B, C and D only/a@5aa B, C aiiz D [Option ID = 4918]
C, D and E only/aae C, D siiz E [Option ID = 4919]
A, D and E only/@aet A, D siiz E [Option ID = 4920]

A w N =

Correct Answer :-
e A, Band Conly/aact A, B 3iiz C [Option ID = 4917]

16) What comes next in this sequence?

1,2,2,4,8, 32,7

offc feu s1u srgfayA 3 sEIch e ®iat i deh ?
1,2,2,4,8, 32,7
[Question ID = 1231][Question Description = S2_qSNz_PG_GP16_Q21]

84/84 [Option ID = 4921]
64/64 [Option ID = 4922]

128/128 [Option ID = 4923]
2567256 [Option ID = 4924]

A W N -

Correct Answer :-

e 84/84 [Option ID = 4921]

17) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, provided
that they all work at the same rate?

afe Ara caftp et s1wrer ot 30 o1 3 goir A 3, ol caftp=al ®Y 3 ADIoT DY Follol 3 ol a1 crolal, dord fb a it eIt 52 A TRl
DS ?

[Question ID = 1232][Question Description = S2_qSNz_PG_GP16_Q22]
100 days/ 100 f&et [Option ID = 4925]

70 days/70 Rt [Option ID = 4926]

30 days/30 f&er [Option ID = 4927]

210 days/210 for [Option ID = 4928]

A W N -

Correct Answer :-
e 100 days/100 f&er [Option ID = 4925]

18) If the difference between compound interest and simple interest on some principal amount at 20% for 3 years is Rs 64,
then the principal amount is -

Afe o=l ererol R 20% DI g2 A 3 ad @ e aqgls st ik ATLRYI RATST DI 3R 64 FURI 3, dl a8 Jcielol A D2
[Question ID = 1233][Question Description = S2_qSNz_PG_GP16_Q23]



Rs 495/% 495 [Option ID = 4929]
Rs 550/% 550 [Option ID = 4930]
Rs 375/% 375 [Option ID = 4931]
Rs 500/% 500 [Option ID = 4932]

A W N -

Correct Answer :-
® Rs 495/ 495 [Option ID = 4929]

19) Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock shows 3 hours 20 minutes is
25°

Statement Il: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at 51 2 minutes past 4.
11

In light of the above statements, choose the correct answer from the options given below

o< <1 werer R a1 3 :
@l - | : afe a3l 3 serp: 20 Bt @1 JRM goIlddl 3 dl 3ADI @e b 32 3iiR frere bl I D i 25° o1 BIvr Jorar 3

@t - Il : 4 30z 5 @ & 4 sstar glimmﬂaﬁ&ﬁgéaﬁimﬁgéwme{ﬁ{aﬁﬁ
11

JURITP DYoll B 31Tl 3, ol fSu 31u fameul 3 A A8l 3= @1 a6l HifsTe ©
[Question ID = 1234][Question Description = S2_qSNz_PG_GP16_Q24]

1. Both Statement | and Statement Il are true/@emwt | aiiz |1 Sleit 3 8 [Option ID = 4933]

2. Both Statement | and Statement Il are false/a@ermet | 8iiz || Gleil sRicr & [Option ID = 4934]

3. Statement | is true but Statement Il is false/@emwr | 3 &, fpoq weret |Isricr 8 [Option ID = 4935]
4. Statement | is false but Statement Il is true/@memet | 31 31 8, fpog et || 3 & [Option ID = 4936]

Correct Answer :-
e Both Statement | and Statement Il are true/@erer | iz 1l Slail 21 & [Option ID = 4933]

20) Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the item is Rs.76.2.
B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

forgotferfRaa weril uz frar Hifsm :

A. afe it avq @1 & aca 56 U 3 iR 33 ur 20% et Bl 3, dl 3A azq oI o aca 76.2 U &
B. afe fp2ft avq o1 @ e 80 U 3 3R 3A Jarol uz 15% aifoer 3kl 3, Al 3A avg &1 fdapr Jea 68 IuA 3
C. afe fop=fl avqg @1 5 U & W|élcm 6 FUR 3 Ja1 SIar 8 Al 3} uR 25% eIt siar 8

SuRfts 3 A Dot a1 / A AT AR B/ E?

[Question ID = 1235][Question Description = S2_qSNz_PG_GP16_Q25]

1. Conly/aac C [Option ID = 4937]
2. Bonly/@ac B [Option ID = 4938]
3. Band C only/d@act B siiz C [Option ID = 4939]
4. A and B only/dact A siiz B [Option ID = 4940]

Correct Answer :-
e C only/a@ac C [Option ID = 4937]

21) Match List | with List Il

List | List Il

A. Vyapti I. An immediate valid cognition of reality due to some kind of sense-object contact
B. Anumana |ll. A source of knowledge on the basis of the likeness of things

C. Pratyakshallll. Knowledge of an object due to previous knowledge of some sign or mark

D. Upamana |IV. The universal relation between the middle and major term of inference
Choose the correct answer from the options given below:

It -1 B e -1l A gARma B
bacht -1 el Il




|. fp2ft yoprR @ sfogaret Afoarad & drRUT Aemef o1 drpra de

A. fix

isiIol
B Il. <fisil Bt FFUAT D IMENT U Silol BT A
3IofdToT

C. geagr  lll. fepeil idda =1 Rre @ yd silel @ smeR UR foedl arg o1 siror
D. suairer |IV. sioldItel @ 3d Ug 3k A1eA U @ i Asard forman
il f¢u aru famedl 3 A A8 IR Yot :

[Question ID = 1236][Question Description = S2_qSNz_PG_GP16_Q26]

1. A-1,B -1V, C- 1, D- Il [Option ID = 4941]
2. A-11,B-1ll,C-1,D - IV [Option ID = 4942]
3. A-1I,B-1l,C-1,D - IV[Option ID = 4943]
4. A-1V,B-1lIl, C-1,D- Il [Option ID = 4944]

Correct Answer :-
® A-I,B-1IV,C-Ill,D- Il [Option ID = 4941]

22) Match List | with List Il

List | IList II

A, Sannidhi||. Mutual fitness and compatibility of the constituent words in a sentence
B. Tatparyalll. Expectancy between the words different in a sentences

C. Yogyata |[lll. Propinquity between the different words in a sentence

D. Akanksa[lV. Meaning intended by the sentence

Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgaifera Hifsre ¢

Rxet -1 Rxeht -1

A. afsorfer ||, araRr 3 Faed 9recl bl uRIUlI® IuYrpdl 3R HoIddr
B. arcazf  [Il. araRr # orscl @ i yezmom

C. a=rar |l ara=r & fafdreot orscl @ dfa AARicT

D. sepignm IV, araRr gRI if3ga aref

ofid fRu o1 fweal & A w8 IR g :

[Question ID = 1237][Question Description = S2_qSNz_PG_GP16_Q27]

1. A-1,B-1,C-1ll, D - IV [Option ID = 4945]
2. A-1IV,B-1l, C-1ll, D- | [Option ID = 4946]
3. A-1I,B-1,C-1V, D - Il [Option ID = 4947]
4. A-11,B-1V,C-1,D- Il [Option ID = 4948]

Correct Answer :-
® A-Il,B-1,C-Ill,D-IV[Option ID = 4945]

23) Name the fallacy committed in the argument.
"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets."

Choose the correct answer from the options given below

il fou s1e a@ 3 Blol A1 aB AT 3 ?

13fl ¥ SIreTaR Urelq] SilolaR &

DI Yformlol Urerd, SIoIaR odl 3

sAfere @B Iforwlol T3¢ Siorar ol &

[Question ID = 1238][Question Description = S2_qSNz_PG_GP16_Q28]

. Undistributed Middle/ s &g [Option ID = 4949]

. Affirmative conclusion from Negative Premises/oibRIcoHD 3men? ard=il 3 AbRIcHD forepd [Option ID = 4950]
. Exclusive fallacy/smuasio @@ gt [Option ID = 4951]

. Existential fallacy/sif¥arausa aa giw [Option ID = 4952]

A W N -

Correct Answer :-

e Undistributed Middle/srema 2 [Option ID = 4949]

24) Consider ‘A’ proposition as ‘True' and ‘False' respectively, in a square of the opposition of propositions, then which one
of the following is correct?



a® arRll @ faudia oot # 'A’ g araR1 o1 @aon: FEl SR orad” Al foretfeiRaa d A ®ler A1 A8 o 3 ?

[Question ID = 1239][Question Description = S2_qSNz_PG_GP16_Q29]
1. '0"is True and 'I' is False/'O" 3t 3 a2 'I' srcir @ [Option ID = 4953]

2. 'E'is Undetermined and 'O’ is False/'E’ aiforerif¥a & siiz 'O’ stera @ [Option ID = 4954]
3. '0O'is Undetermined and 'I' is False/'O’ afoerif3a 8 siiz I sretr & [Option ID = 4955]

4. 'I'is True and 'E' is False/'I' 31t 8 3l 'E' srere@ @ [Option ID = 4956]

Correct Answer :-
e 'O'is True and 'I' is False/'O’ 3@ 2 3iiz 'I' arera & [Option ID = 4953]

25) In which of the following forms of knowledge there cannot be any predication of the object in terms of the subject-
predicate relation?

forgoticii¥aa 3 A b SiIel Yrsu @ 3894 - fafi Ader bl zfte A avq oI oIS 486l o1él 8l Amer 8 ?
[Question ID = 1240][Question Description = S2_qSNz_PG_GP16_Q30]

1. Nirvikalpaka Pratyaksha/feifdecuss geagt [Option ID = 4957]
2. Savikalpaka Pratyaksha/fd@eus® geast [Option ID = 4958]
3. Samanylaksana/mmeeigor [Option ID = 4959]

4. Yogaja/=erst [Option ID = 4960]

Correct Answer :-
e Nirvikalpaka Pratyaksha/foiffascuds geerer [Option ID = 4957]

26) A spreadsheet is

ol 3 -

[Question ID = 1241][Question Description = S2_qSNz_PG_GP16_Q31]
. One-dimensional table or grid/ve® - faefizr aiferat =n Bfs [Option ID = 4961]

. Two-dimensional table or grid/fg - fasftr aiferet @ 35 [Option ID = 4962]

. Three-dimensional table or grid/f - faeflr arferer =n Bfs [Option ID = 4963]

. Four-dimensional table or grid/aqg - faufter aiferat =n s [Option ID = 4964]

A W N -

Correct Answer :-
® One-dimensional table or grid/v® - fefir aiferor =n Bfs [Option ID = 4961]

27) In electronic banking, ATM stands for

soraciford Jfepst & der 3 © & U BT YA olF a=1 3 ?

[Question ID = 1242][Question Description = S2_qSNz_PG_GP16_Q32]
1. Automated Transfer Money/siididRs giiw2 asft

[Option ID = 4965]
2. Automated Teller Machine/sifciaics ecrz Fofter

[Option ID = 4966]
3. Automatic Transfer Machine/siicliifes ¢eiw2 atofior

[Option ID = 4967]
4. Automatic Transfer Mode/siidafes gjeiw: #His

[Option ID = 4968]

Correct Answer :-
e Automated Transfer Money/siicliics ¢iaIw2 doft
[Option ID = 4965]

28) Which of the following is a disadvantage of laptop computers in comparison to desktop computers?

3¥peia BIRIA B getolt i auciu werped & fororferRaa 3 3 dlet 2l v oot 3 ?

[Question ID = 1243][Question Description = S2_qSNz_PG_GP16_Q33]

It has no trailing wires /s @IS ar formet ofdl & & [Option ID = 4969]

It has lower power consumption/s@i fsteft @t 2aud @ 3t & [Option ID = 4970]

It is lightweight and self-contained /s3I asiol @ 8 & 3l A8 aa: guialar & [Option ID = 4971]
It is easier to break or steal/s3 disern a1 gRien 3iRIe 8t & [Option ID = 4972]

A W N -

Correct Answer :-
® |t has no trailing wires/sd @I$ ar forwal o8l 381 3 [Option ID = 4969]



29) Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

foratferRaa aerell @ smemR R fRar Hifsme :

A. o YRl 3 9rsa =1dl @1 SuRiieT b Sirer @

B. Sic afea=t iz spalc fYjcl @ fRudla dor el 3 crardst TR B IERI RS BT IURIEI o8l fopan sirar 3
C. &R fjcrl 3 fore Rer fga &t faoraar/sr o1 gRIeT diar &

D. oieR fter ary 3 3iiSilet 31 3R CloR @ IYgA PUI IcUool DA 3

SWRfTH 3 3 Plal AT / A BT 78 T ?

[Question ID = 1244][Question Description = S2_qSNz_PG_GP16_Q34]

. A, B and D only/dact A, B siiz D [Option ID = 4973]
. A, Cand D only/a>aet A, C siiz D [Option ID = 4974]
. B, Cand D only/aact B, C siiz D [Option ID = 4975]
. Aand C only/d5aer A siiz C [Option ID = 4976]

A W N -

Correct Answer :-
e A, Band D only/aact A, B 3iiz D [Option ID = 4973]

30) Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement Il: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

il ol @l fdu sre 3 ¢

el - | @ 9 3R © va @ 361 gifdRes 3iiz Aenfy (Dubic:) alaka aa 3
@erel - |l : 31 3R T wa Bl IR 2B 9rdmol bl sragddr aidl 3

JURITP Dol D 3Tl 3, ol fGu s1u fameul # A 3l 3= @1 T=I6e1 HifSte &
[Question ID = 1245][Question Description = S2_qSNz_PG_GP16_Q35]

Both Statement | and Statement Il are true/wmerer | 3ii || Gloil A & [Option ID = 4977]

Both Statement | and Statement Il are false/aemr | 3iiz || Gleil sRicr & [Option ID = 4978]
Statement | is true but Statement Il is false/wmemwe | 31w 8, fbog @eret |l sRic & [Option ID = 4979]
Statement | is false but Statement Il is true/emr | sRI @ , fboq e |l J1=r & [Option ID = 4980]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are true/asermr | 3iiz |l Slelf 31 & [Option ID = 4977]

31) According to Niti Ayog's SDG Index (2019-20), which among the following states is the best performer in the attainment
of SDG-5 (Gender Equity)?

oiifer MRMPT & wSish Jawmicd (2019 - 20) & gRIR, WIS - 5 (SiftTe Aaroan) gra ool # foreiferlRaa 3 A fepa s @1 ygolar ad9so
37

[Question ID = 1246][Question Description = S2_qSNz_PG_GP16_Q36]
Kerala/a3ct [Option ID = 4981]

Himachal Pradesh/faraet yger [Option ID = 4982]

Sikkim /Bifersar [Option 1D = 4983]

Goa/siar [Option ID = 4984]

A WN -

Correct Answer :-
® Kerala/act [Option ID = 4981]

32) Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes to following SDGs

difocrer QIAxasia 3 6l 918 uldacustt @ 3IGRIR URINeToll fafes2ur A Jzgvr foafeiRaa 3 A fopar vt 31 Sit 3 oft Aecrer e 3 ?
[Question ID = 1247][Question Description = S2_qSNz_PG_GP16_Q37]



SDGS 3, 11, 14, 15/wx €t st 3, 11, 14, 15 [Option ID = 4985]
SDGs 10, 16, 17/wa st st 10, 16, 17 [Option ID = 4986]
SDGs 4, 5, 11, 17/wx €t st 4, 5, 11, 17 [Option ID = 4987]
SDGs 8, 10, 12/wx st skt 8, 10, 12 [Option ID = 4988]

A WN -

Correct Answer :-
e SDGS 3, 11, 14, 15/va &t skt 3, 11, 14, 15 [Option ID = 4985]

33) Among all recorded species in the world, India accounts for about

faea 3 Rrs &l o1 21eft geuferil 3 A aRd 3 ceneT fhdell ysnfer 37

[Question ID = 1248][Question Description = S2_qSNz_PG_GP16_Q38]
1. 7-8%/7-8% [Option ID = 4989]

2. 10-12%/10-12% [Option ID = 4990]

3. 15-18%/15-18% [Option ID = 4991]

4. 20-25%/20-25% [Option ID = 4992]

Correct Answer :-

e 7-8%/7-8% [Option ID = 4989]

34) In respect of Biochemical Oxygen Demand (BOD), the permissible Indian standard for discharge of treated effluents in
Inland Surface Waters is

SIaRRIRIfoI® sifadistor #ieT (f sir 3t) & Zder A, oNfera afd:3yra @1 sroa:FerciR AL SieT A SIsal @ e sl HAeI a=r 3 ?

[Question ID = 1249][Question Description = S2_qSNz_PG_GP16_Q39]
1. 5.0 mg/L/5.0 Bep/ <t

[Option ID = 4993]
2. 6.0 mg/L/6.0 fop./ <t

[Option ID = 4994]
3. 15.0 mg/L/15.0 e/ ft

[Option ID = 4995]
4. 30.0 mg/L/30.0 feg./ <ft

[Option ID = 4996]
Correct Answer :-
® 5.0 mg/L/5.0 Bwey./ cft.
[Option ID = 4993]

35) Which type of power plants uses the least land per unit of GWh energy production?

o goor @ fgga FRiq yfer soré sfienare et (St sec3 war) Seif Scurcer @ fere A2 wa Yfd a1 WINPT B3 & ?

[Question ID = 1250][Question Description = S2_qSNz_PG_GP16_Q40]
Wind/uaet [Option ID = 4997]

Coal/orren [Option ID = 4998]

Solar/=iiz [Option ID = 4999]

Geothermal/gardzr [Option ID = 5000]

A W N -

Correct Answer :-
® Wind/uaat [Option ID = 4997]

36) Which of the following are the major recommendations of the NEP-2020 related to higher education?
A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education

D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

Got $ di - 2020 3 S frgm @ JAdier 3 forgsiferi¥aa 3 A wlor Al yggza Rawifedi & ?
A. Siigs3mz @ 26.3% A s 2035 ao 50% oo
B. faea - Fadi feafdencri & Femuen



C. 3ca firen @ foru uavel RIRIIG ERI 'gcwl g BoR (clise ac erse)’ fAforria
D. fasire siiz Gienf3rht 3 ofier ot agrar ol

E. 1500 3iiz freafdencrn wieron

ofi o s1u fesedl & A A8 IR BT wRI6T BT :

[Question ID = 1251][Question Description = S2_qSNz_PG_GP16_Q41]

A and B only/@qet A siiz B [Option ID = 5001]
A and C only/@aa A siiz C [Option ID = 5002]
B and D only/dqet B siiz D [Option ID = 5003]
D and E only/@aet D siiz E [Option ID = 5004]

A W N -

Correct Answer :-
e A and B only/dact A siiz B [Option ID = 5001]

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the education system so that
students, depending upon their interests and aims, can choose interdisciplinary, intra-disciplinary and skill-based courses.

Reason R: The majority of Indian higher education institutions have been following a marks or percentage-based evaluation
system, which obstructs the flexibility for the students to study the subjects/courses of their choice and their mobility to
different institutions.

In light of the above statements, choose the most appropriate answer from the options given below

ofl Jl werel fRu sre 3@ uep sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :

aifdrperet (A) : frem yurreht 3 crcficiaer &l HieT @I &=atol 3 3 gu ey - snenf¥a @ fFeyurrell (1t &t 2l v1) @I srueirn 3 aifes s1q ruoft
AMIBRRI 3R 329l B IIGRAR 3R - fAwRID, A fIwRIP 3R DI menfsd UGGl DI TRl B2 AD

@RI (R) :9a # siferoior sea 181 Jivend sics a1 yfererd smenfyda geiasel Yuineil @I sfefurciol @2 Wl & ; RBRIRI SIGl @l 36l Uic @ fererRil
/ JiFensii @ dka Sorcbl sifereficrar 3 ercliciuot af e siredi 3

SR ol D Il H, ofld fGu famcdl 3 A 7 3a= &1 wRIel Hifsre :
[Question ID = 1252][Question Description = S2_qSNz_PG_GP16_Q42]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) clall 3@l 8 3z (R), (A) &I &l carn & [Option ID = 5005]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil & & uesq (R), (A) &t 3@ =m=n o8t 2 [Option ID = 5006]
3. Ais correct but R is not correct/(A) 3@t 8 wsoqg (R) 3@t a8t & [Option ID = 5007]

4. A'is not correct but R is correct/(A) 3@ sét 8 weeg (R) &t & [Option ID = 5008]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gl 3@t 8 3z (R), (A) &t 3d sareen 8 [Option ID = 5005]

38) Nalanda was established in
slIcict &l FeIruelr od gs ot ?

[Question ID = 1253][Question Description = S2_qSNz_PG_GP16_Q43]
2nd century/ gt eriesdt [Option ID = 5009]

. 374 century/dhdt errect [Option ID = 5010]

4th century/<itelt errsdt [Option ID = 5011]

. 5t century/uiadt erarsdt [Option ID = 5012]

A W N -

Correct Answer :-
e 2" century/gemst et [Option ID = 5009]

39) Arrange the following states in descending order in terms of GER (Gross Enrollment Ratio) in higher education.
A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

Iea 1181 3 Aol oIl 3opard (it $ 31R) &l zfte A foaifeiRaa ==l @ raRIE aar 3 3= :
A. aif¥rerong



B. @53

C. IRravs

D. Rifrpa

E. RBumerer ggor

ofid 3 s1u fwseal & A A8} IR BT <RIl BT :

[Question ID = 1254][Question Description = S2_qSNz_PG_GP16_Q44]

1. A, B, D, E, C [Option ID = 5013]
2. B, A, D, C, E [Option ID = 5014]
3. B, D, E, A, C [Option ID = 5015]
4. D, A, E, C, B [Option ID = 5016]

Correct Answer :-
e A B, D, E, C[Option ID = 5013]

40) 'Deemed to be University is established by

‘Stos frafdencrr’ &t Fenuer feaads grI & siredt & ?

[Question ID = 1255][Question Description = S2_qSNz_PG_GP16_Q45]

An act of the Parliament/3iic @ siféiformr grr [Option ID = 5017]

An act of the state legislative assembly /s fderet 219m @ aiferformer grr [Option ID = 5018]

A notification of the Central Government on advice of the UGC/3sft3ft. ot Jretis ue dog 2RdR o siftRae grr [Option ID = 5019]
A notification of the UGC on the advice of the State Government/3s JR®R &I Aciis W Y Sh 2. & siferyaen grr [Option ID = 5020]

A wWw N =

Correct Answer :-
® An act of the Parliament/3izic & sifétfornpr grr [Option ID = 5017]

Topic:- GP_24NOV_SH2_C

1) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

forgatferlRaa srerior ol earegde ue 3R Yool & 3R 3

HIAICHD A DI JMAEMRVI AT &I D ASPIRI D IHERIoI 3 I 3 f[boq HIaIHAD 9P PPl YD ASPIR D e grifdie 3 smue! gdtsm
34 3 DA A DA A UL I 3 b 34 3ol AspiIRIl D AT 19rse RasR B3 3iiR fALHYUl *IasR of B3 A<l olldl ad IcUool 2kl 3 S
patenf¥il o fopfl srraol @1 ygfdfa ween usdr 3 S/afds & DI gAst sl AEPA B2 B XA 3 A6 fARAeIRT siideiicord faRieIfr waadl 3 iz aB
Farea @ fere sIforpR® A Addl 3 ©ol, Be 3R AW B THA HIG6IT A 3iAd: HIAIHD UADIel Bl 3 31 RRP HIAGIHD FU A ¢ Sl 3
IAoIIcID faRisIfel FsTIolcrd s & amet 3, RrarT s3d b sidacicas farisIfer fRider @5 asIrRT siraotisil A HdfenT alidl 3 yandl orf
forsurcer @ U YA Heds @ HU I MIG6IHD 9P 3 HIdaIsil Bl YRIfSIasdr o) 3 Il 3 $Idolicdd 9P wafanf¥il & ferg gfrenm Scuset
DIAI 3 MUDI TA cllvll D AT PIA Dol TSl 3 3168 MU [derapet uRic ofl @l & 3l ADdI 3, 31U Iold RAfebed I aadf Aol 8 3
APl & fob 3 A6 Sirold 3l fb 3osiol MU Ulo UIS MU R 3 GIPRICHAD diid Pdl 8 3D dIA9IS, Ul ASPIR Ol MR 3MUD! sof el B
AT ORI MER UR 3[R ool usdl & sAfcie snuwml disra ol fwarar o6l usdl & fadume, Al MU HIG6II3Il DI 3oL3i HITGII3II AT
yefola siraeinail 3 31ereTI-31csT @2 AD Al 3R] U] 36! ASPIR I ASRIAI Biet Adell 3 31elyId Hd6le aftp &l ar«afde g el 3
s fudia, ygfdla siraomd a 3idl 3 Riod I istool fepeil BRI 19 @ e watanf=il gRT ycfdfa fepu sier & sragn ¥ 3 sz 368 3fa
HAlolel 3 d siafeifdea sraed o181 el T ; a AMxdl o1 sraend Bl 3 521 ymor &1 A A arfroviorn st sirold 3 fob g3 b2l cafp @ siferar
Ji¥or A g Yoidia et & sren &l it 3, 91ct 8t 3o 3A cAftp B o DI U Sifel Al AT of Aol d2T INEI-IARIE A YAool xTor BY
e <l Sl 3, et 8 91 YRIooldl A D3 AT of DI 91N B S9Iid 3 b DRI Feredl R s g &l Sl 3 b s AIGRIa: gisordr 3R



AT SR APRICHD HIAl DI Ygfdfa doll anfdu qerr srI, @lel, Siiel iR el SI SIPRICHD HIdl DI SR Dol aIfsy

The basic principle of emotional labour management is:

SIAGIICID 99T Jaeral @I gforidt Rigia 3 :

[Question ID = 1256][Question Description = S2_qSNz_PG_GP16_Q46]

Be less hostile to other employees/ steer dafanf¥=ii @ yfer war fagw 3xaem [Option ID = 5021]

Entertain only limited interaction within the organization/ieee @ sfiar dact ffdr sid:fpzr @on [Option ID = 5022]
Be polite to co-workers /3@ @ yfer fdewy 2@ar [Option ID = 5023]

Do not show your frustrations/smeft @il @t yafsia of wzer [Option ID = 5024]

A w N =

Correct Answer :-
e Be less hostile to other employees/ e wafaif¥i @ yfer war fagw 3xaern [Option 1D = 5021]

2) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

fogotferRaa srerior ol eareIgde® ug 3R Yosll & IR

HIAICHD A Bl AAEMRUIT AT &I D ASPIRI D HERIoI A I 3 fboq HIaIHD 9P PBPI YRID ASPIR @ e yrifdie 3 smue! ydes
MU A A A DA AT UL WA 3 5 34 31uel AspRR & 2rer fAre RIasr &3 3R Uyl cIaer o &3 el gollddl ag cucd 3Xdl 3 s
pafenf¥=il ol ol sirdon 1 ygidfa wmen usdar 3 Siafds d @I g3l HIdell #83PA B2 B Bld 3 A8 farisIfa siaeica® faiefer waardl 3 il Aas
Fared @ fore siforprRe 8l Addl 3 o1, DYer iR AW B T HIdel A 3iAd: HIGeIHD ABIol BNl 3 iR AP HIGeIHD HU A ¢TSIl 3
HIdolIcIHD fARisIfel JsTIolcd isifer @ Weirel 3, Riar s3d [ siaeice faeisifa Ride @ a=IrRI sitaonsil A A« aldl & gandl ort
forsurGer @ U YA e @ FU I HIG6IcHD 9JF 3 HTdeIsil Bl YRIfSIasdr @1 A Sl 3 MIdolicdd 9P walani¥il & fore gfdren 3cucet
@AM 3 MUD] VA clivll D AT P Dol Usdl 3 RIed 31ma frerpet URic ofél @ 3 8l Addl 3, 31U Joid Riftbed I sruerd] s 3 31
Awdr 3 35 31U UG Siiold 31 {5 3ozl smud i WD 3ud> aR 3 oIPRICAD dKd Bdl 3 $AD FIASIG, Ul ASPIR Bl FR MUD! ol vl B
1 forIfdre smeR uR iR @ofl usdl & safere suw! ddisira ol fCwarar ol usar 8 fa9ume, Al MU HIGGIIsil DI T3 HIdoII3il AT
Yo il HIaeIrsil 3 3Ie1aT-31c1eT @2 AD dl SR MUDI Ul ASPIR 3 ABRIAT 31ct Al 3 3oy HIGGIE RAftp Pl arafdd HIdeI alcil &
s f[udia, ggfofa sraenu a sicll & 18 DI 2is1o0 [dhil BRI fady o fere wefanf¥=il wr1 ygidia fipu sirer &t srdgn 2xar & 3iiz 3s8 3k
ATl & d 3idfolfda siraeie orél el & ; d Ml o1 sirgoi Bl & 3=Al YR a1 31 A 3Ifrpi9r SISt Siiold & b 3IRI fp=dl cafep @ siferr
JirorR A g3 Yoldia et &b srisn &l il 3, 91cr 8t oot 3A cafes B P DI U Sifel ATl AT of Aol 2T IS TARIE A Yool fxTor BY
e <bl SIredl 3, 91ct 8 591 YRIooldl YA D3 AT of DI 9N UG GoIfd 3 b PRI Ferel urR A6 g 6 Sl 3 b s ABIIGRA: gRisordr 3R
AT SR APRICHD HIAl DI Ygfdfa won anfdu qerr srI, dlel, Sl 3R IaeIIel S SIPRICHD HIdl DI SRId Dol aIfsy

Within an organization, emotional dissonance affects

fopil ioroa d siacicare faeieifa fopt ganfaa madl 3 ?

[Question ID = 1257][Question Description = S2_qSNz_PG_GP16_Q47]
. Cognitive consonance/3isirelcares 3igeudr [Option ID = 5025]

. Effective job performance/qsid! @rf foruiger [Option ID = 5026]

1
2
3. Solutions to labour issues/gpt 3jgt @1 w@menst [Option ID = 5027]
4. Constructive thinking/>deircare fRider [Option ID = 5028]

Correct Answer :-
e Cognitive consonance/ =it 3foeudr [Option ID = 5025]

3) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.



At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

forgaifeiRaa srerior ol earegde® ue 3R Yool & 3R ¢

SIIAICHD A DI ALMRVI AT &I D ASPIRI D 3ERRIol A IR & fPoq HIAKHD 9P PBFI YRID ASPIR @ 018 JRIfPSIe & MU Yatrn
34 A DA A DI AS UL I 3 5 34 3rual AsHRRI D 12 fore RIasr @3 3R fRIguyYf *Iasr o &3 A<l golldl aq cucd 3idl 3 s
patenf¥il ot fopfl sraolt @1 ygfdfa wen usdr 3 Slafds & DI gAst sIaell AEPA D2 W B 3 A6 fARsIfT siidolcar faRieIfr waacdl 3 ik as
Fared & fore sifoldrRd 8 ADdl 3 Bot, DIer iz AT Bt T HIdoIl A cAd: HIAOIHD ABIol Bl 3 3T AR HIdolcdd HU A ¢¢ SIIdl 3
HIAGIIcIHD faRisIfer FsTIolcards I & aIret 3, RrarT s3d 6 siacicars faeisifer Rider @5 asIRT siraeiiail 2 HdfenT kil 3 yandl orf
forsurcer @ U Y Heds @ HU I HIGGIHD 9P 3 HIGGIIsil Bl YRIfSIasdr o) 31 Il 3 $Idelicid 9P wafanf¥il & feru gfrenm Scuset
DI E  MUD] YA clivll o AT DIH DIl Usdl 3 RI6d 31U frerapet URic offl @ & 8l AddI 3, MU Jold RAftbed ol suadl aArera 3f 31
APl & b 3 As Sireld 8 fb Iosiol MUD Ulo Ul MUd dR I GIPRICHAD diid Dl 8 3D dIA9IS, Ul ASPIR DI MR 3MUDI S0l clivll B
A1 forafdre 3menR UR 3ier:faRm ool usdl 8 safere smud! Jidira oI fSarar ol usdr & fadums, AfS ra HIaolIsll I 3rol3id HTdeII3il AT
Yoot HracIrail 3 3IcIoT-31e1oT W2 AD Al IR MU UG ASPIR 3 ASRIAT firer Tl 3 31el3d HIdeIU saftp &I arafde sraenu Bidl 3
s [adia, ygfdla siraemd a aidl 3 Riod @I 2istoot fepeil BRI 19y @ e watanf®=il gRT ycfdfa fepu sirer & sragn 3wdar 3 sl 368 3fra
HAlolcll 3 3icfeifde sraeid o181 2l T ; a Mi=dl o1 sraeld Bl 3 sl yor & A A arferoviorn st Sirold 3 fob s vl cafp @ siferan
JroR i g Yoidia ot & srien 6l sl 3, 91cr 8t 3ot 3A cAftp 6 g DY U Sifer Al AT of Aol d2T INET-IHRIE A Yool 01 HY
UG DI Sl 3, 91c1 & s YIooldl A D2 AT of D2 9N A oI 3 b PRI Feredl U= A1s e bl Sl 3 b &9 AATeRIAa: YRicordr 3iiR
IS SN ADRICHD HIdl Dl Yfdfa don anfdu aem sr1, dler, girs iR Adrel Sid oIbRICHD HIdl DI Gl Dol a3

In a workplace environment, labour managers should give preference to:

DRI Ferd @& ardra?vT 3 9T Yderml ai forstfarlRaa 3t 2 s grefdrpar Soft anfdw ?

[Question ID = 1258][Question Description = S2_qSNz_PG_GP16_Q48]
1. Displayed emotions/ygfefa saetaii @1 [Option ID = 5029]

2. Felt emotions/smojsge sirdetrsii o1 [Option ID = 5030]

3. Negative emotions/si®RIcrd smaeisii @l [Option ID = 5031]

4. Expressions of frustrations/wqorsii &t sifdreifep @t [Option ID = 5032]

Correct Answer :-
e Displayed emotions/ygsfsia smaetsii @t [Option ID = 5029]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal NumberRat]0 Total Number Ratio

M F F
IT 250 1 |1 |240 2 1
lAccounts 123 2 1 130 3 2
HR 90 3 2 (30 2 1
Marketing (350 5 |2 343 5 |2
Production [304 5 |3 |351 5 |4

fogotfeiRae srerior @l earegd® ug 3R Ygsil d IR &
SIIAIcHD A DI ARV AT &I D ASPIRI D &Rl A IR 8 [Pod HIAKHD 9 PBRI YRID ASPIR D 018 gRIPID & 3MUdI Ydern



MU A B A DA AT UL WA 3 5 34 31Ul AspBR & 2rer forse RIasr &3 3R fRIguyYf cIaer o &3 el gollddl ag cucd 3idl 3 s
pfaiRIl ol fpdl Hrdel @l yaidia ool usdr 8 Safs d IS g3l HIdell ABIIA D2 W BId & As faRieIfe sdeicaAd feRisIia wacrdl 3 3R a8
AR D fe1U BIfolPR® Bl ADdl & @OT, MU 3R AW DI TRA Il A idd: HIAEIIHD ADIol Bicil 8 312 RFTh HIdelcdD BU A ¢ Sl &
SIIdGIIcHD faiIfer Jsieicrs faRisIfar @ e &, Riart s & sirdeircare fisifar Rider @ a=IRI siraon3il A Jdfera axdt 2 gandt ort
forsurGer @ U YA e @ FU I MIGeIHD 9JF 3 HIdaIIsil Bl YRIfSIasdr @) A3 SIIdl 3 MIdolicdd 9P wafani¥il & fore gfdrenm Scucot
DIAI S MUDI VA cllvll D AT PIA Dol USdl 3 foTos MU fdcraget uRic oél @l & 3l ADdI 3, 31U Iold RAfebed bl aadl Alold 8l a1
Awdr 3 35 31U Az Siiold 31 {5 3ozl smud i Wi 3ud> aR 3 oIPRICHAD aKd Bdl 3 $AD FIASG, Ul ASPIR Bl FR MUDY ol vl B
A1 forIfdre meR uR iR ol usdl & safere snuwl ddisira ol fwarar ol usar 8 fa9ume, Al MU HIGGIISIl DI 3Tof3ie HITGII3il AT
Yo il HIaeIIsil 3 3IcTaT-31c1eT a2 AD dl SR MUDI Yol ASPIR 3 ABRIAT f3cT Al 3 3oy HIGGIU RAfTp Pl dRAfI® HIGeIE Bl &
s f[udia, ggidia sraenu d sl & 18 PIf HsTo0l [dbil BRI fady o fere wafani¥=il GrR1 ggidia fpu sirer &t srdgn 2xar & 3iiz 3sa 3fka
JATGIAT 3 A 3icfolfda siraeie o1l Xl 3 ; d 2t o1 siaom© Bt & 32t YR o 31 A 3if2repion clist Sireld 3 6 saRY bl caftp & siferar
Jror A g Yoldia oot & sren &l el 3, 91ct 8t 3o 3A cAfes B P DY U Sifel Aol AT of Aol AT INET-TARIE A Yool fxTor B
e <bl Sl 3, 91ct & 91 YRIooldl A D3 AT of DI 9 UG G9Iid 3 b DRI Ferel R s e 6 Siedl 3 b s ABMIRIA: YRisoldr 3R
AT SR APRICHD HIAl DI Ygfdfa mdol anfdu qerr srI, @lel, siiel iR IaeTel SI SIPRICHD HIdl DI SR Dol aIfsu

Which of the following feelings one should feign at a workplace?
A. Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

orI Ferer R fopfl cafts @ foerferRaa 3 3 wlet 2l srraorsii @1 fearar wen aifdu ?
A. s

B. Scars

C. srqaret

D. gzicorar

il 3w a1 fraseul 9 A W& 3= goi ¢

[Question ID = 1259][Question Description = S2_qSNz_PG_GP16_Q49]

1. Aand B only/d>act A siiz B [Option ID = 5033]
2. Band C only/aaa B siiz C [Option ID = 5034]
3. Cand D only/a@aet C 3iiz D [Option ID = 5035]
4. B and D only/dac B siiz D [Option ID = 5036]

Correct Answer :-
e A and B only/daet A 3iiz B [Option ID = 5033]

5) According to the passage, effective emotional labour management involves :

STEN9T B 3eLAR, Il HIdeIcHD 9JF Yselol 3 o= Afdafera siar 3 ?

[Question ID = 1260][Question Description = S2_qSNz_PG_GP16_Q50]
Acceptance of emotional dissonance/ sideircaies faRisifer &bt dtrfar [Option ID = 5037]

Free expression of feelings of frustration/ort &t sidetaii 6t 7jep sifdreafes [Option ID = 5038]
Display of friendly emotions/didfiqui straemaii @1 ygeler [Option ID = 5039]

Sidetracking the learned emotions/=ftxft 1 straetrsii @t urd 3 2aom [Option ID = 5040]

A W N -

Correct Answer :-
® Acceptance of emotional dissonance/siraeicara faisifer &t >dfirfar [Option ID = 5037]
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[Question ID = 1911][Question Description = Q01_28Urdu set1_A]



1 [Option ID = 7641]
2 [Option ID = 7642]
3 [Option ID = 7643]
4 [Option ID = 7644]

A W N -

Correct Answer :-
e 1 [Option ID = 7641]
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[Question ID = 1912][Question Description = Q02_28Urdu set1_A]
1. 1 [Option ID = 7645]
2. 2 [Option ID = 7646]
3. 3 [Option ID = 7647]
4. 4 [Option ID = 7648]

Correct Answer :-
e 1 [Option ID = 7645]
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[Question ID = 1913][Question Description = Q03_28Urdu set1_A]
1. 1 [Option ID = 7649]
2. 2 [Option ID = 7650]
3. 3 [Option ID = 7651]
4. 4 [Option ID = 7652]

Correct Answer :-
e 1 [Option ID = 7649]
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[Question ID = 1914][Question Description = Q04_28Urdu set1_A]
1. 1 [Option ID = 7653]
2. 2 [Option ID = 7654]
3. 3 [Option ID = 7655]
4. 4 [Option ID = 7656]

Correct Answer :-
e 1 [Option ID = 7653]
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[Question ID = 1915][Question Description = Q05_28Urdu set1_A]
1. 1 [Option ID = 7657]
2. 2 [Option ID = 7658]
3. 3 [Option ID = 7659]
4. 4 [Option ID = 7660]

Correct Answer :-

e 1 [Option ID = 7657]

I/E',.:r.'h:.uﬁ @) J7f::‘ (1)
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[Question ID = 1916][Question Description = Q06_28Urdu set1_A]
1. 1 [Option ID = 7661]
2. 2 [Option ID = 7662]
3. 3 [Option ID = 7663]
4. 4 [Option ID = 7664]

Correct Answer :-
e 1 [Option ID = 7661]
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[Question ID = 1917][Question Description = Q07_28Urdu set1_A]
1. 1 [Option ID = 7665]
2. 2 [Option ID = 7666]
3. 3 [Option ID = 7667]
4. 4 [Option ID = 7668]

Correct Answer :-
e 1 [Option ID = 7665]
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[Question ID = 1918][Question Description = Q08_28Urdu set1_A]
1. 1 [Option ID = 7669]
2. 2 [Option ID = 7670]
3. 3 [Option ID = 7671]
4. 4 [Option ID = 7672]

Correct Answer :-

e 1 [Option ID = 7669]
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[Question ID = 1919][Question Description = Q09_28Urdu set1_A]
1. 1 [Option ID = 7673]
2. 2 [Option ID = 7674]
3. 3 [Option ID = 7675]
4. 4 [Option ID = 7676]

Correct Answer :-
e 1 [Option ID = 7673]
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[Question ID = 1920][Question Description = Q10_28Urdu set1_A]
1. 1 [Option ID = 7677]
2. 2 [Option ID = 7678]
3. 3 [Option ID = 7679]
4. 4 [Option ID = 7680]

Correct Answer :-
e 1 [Option ID = 7677]
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[Question ID = 1921][Question Description = Q11_28Urdu set1_A]

1. 1 [Option ID = 7681]
2. 2 [Option ID = 7682]
3. 3 [Option ID = 7683]
4. 4 [Option ID = 7684]

Correct Answer :-
e 1 [Option ID = 7681]
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[Question ID = 1922][Question Description = Q12_28Urdu set1_A]
1. 1 [Option ID = 7685]
2. 2 [Option ID = 7686]
3. 3 [Option ID = 7687]
4. 4 [Option ID = 7688]

Correct Answer :-
e 1 [Option ID = 7685]
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[Question ID = 1923][Question Description = Q13_28Urdu set1_A]
1. 1 [Option ID = 7689]
2. 2 [Option ID = 7690]
3. 3 [Option ID = 7691]
4. 4 [Option ID = 7692]

Correct Answer :-

e 1 [Option ID = 7689]
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[Question ID = 1924][Question Description = Q14_28Urdu set1_A]
1. 1 [Option ID = 7693]
2. 2 [Option ID = 7694]
3. 3 [Option ID = 7695]
4. 4 [Option ID = 7696]

Correct Answer :-
e 1 [Option ID = 7693]
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[Question ID = 1925][Question Description = Q15_28Urdu set1_A]
1. 1 [Option ID = 7697]
2. 2 [Option ID = 7698]
3. 3 [Option ID = 7699]
4. 4 [Option ID = 7700]

Correct Answer :-
e 1 [Option ID = 7697]
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[Question ID = 1926][Question Description = Q16_28Urdu set1_A]
1. 1 [Option ID = 7701]
2. 2 [Option ID = 7702]
3. 3 [Option ID = 7703]
4. 4 [Option ID = 7704]

Correct Answer :-
e 1 [Option ID = 7701]
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[Question ID = 1927][Question Description = Q17_28Urdu set1_A]
1. 1 [Option ID = 7705]
2. 2 [Option ID = 7706]
3. 3 [Option ID = 7707]
4. 4 [Option ID = 7708]

Correct Answer :-
e 1 [Option ID = 7705]
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[Question ID = 1928][Question Description = Q18_28Urdu set1_A]
1. 1 [Option ID = 7709]
2. 2 [Option ID = 7710]
3. 3 [Option ID = 7711]
4. 4 [Option ID = 7712]

Correct Answer :-
e 1 [Option ID = 7709]
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[Question ID = 1929][Question Description = Q19_28Urdu set1_A]
1. 1 [Option ID = 7713]
2. 2 [Option ID = 7714]
3. 3 [Option ID = 7715]
4. 4 [Option ID = 7716]

Correct Answer :-
e 1 [Option ID = 7713]
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[Question ID = 1930][Question Description = Q20_28Urdu set1_A]
1. 1 [Option ID = 7717]
2. 2 [Option ID = 7718]
3. 3 [Option ID = 7719]
4. 4 [Option ID = 7720]

Correct Answer :-
e 1 [Option ID = 7717]
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[Question ID = 1931][Question Description = Q21_28Urdu set1_A]
1. 1 [Option ID = 7721]
2. 2 [Option ID = 7722]
3. 3 [Option ID = 7723]
4. 4 [Option ID = 7724]

Correct Answer :-
e 1 [Option ID = 7721]
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[Question ID = 1932][Question Description = Q22_28Urdu set1_A]
1. 1 [Option ID = 7725]
2. 2 [Option ID = 7726]
3. 3 [Option ID = 7727]
4. 4 [Option ID = 7728]

Correct Answer :-
e 1 [Option ID = 7725]
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[Question ID = 1933][Question Description = Q23_28Urdu set1_A]
1. 1 [Option ID = 7729]
2. 2 [Option ID = 7730]
3. 3 [Option ID = 7731]
4. 4 [Option ID = 7732]

Correct Answer :-
e 1 [Option ID = 7729]
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[Question ID = 1934][Question Description = Q24_28Urdu set1_A]
1. 1 [Option ID = 7733]
2. 2 [Option ID = 7734]
3. 3 [Option ID = 7735]
4. 4 [Option ID = 7736]

Correct Answer :-
e 1 [Option ID = 7733]
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[Question ID = 1935][Question Description = Q25_28Urdu set1_A]



1 [Option ID = 7737]
2 [Option ID = 7738]
3 [Option ID = 7739]
4 [Option ID = 7740]
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Correct Answer :-
e 1 [Option ID = 7737]
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[Question ID = 1936][Question Description = Q26_28Urdu set1_A]
1. 1 [Option ID = 7741]
2. 2 [Option ID = 7742]
3. 3 [Option ID = 7743]
4. 4 [Option ID = 7744]

Correct Answer :-
e 1 [Option ID = 7741]
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[Question ID = 1937][Question Description = Q27_28Urdu set1_A]
1. 1 [Option ID = 7745]
2. 2 [Option ID = 7746]
3. 3 [Option ID = 7747]
4. 4 [Option ID = 7748]

Correct Answer :-
e 1 [Option ID = 7745]
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[Question ID = 1938][Question Description = Q28_28Urdu set1_A]



1 [Option ID = 7749]
2 [Option ID = 7750]
3 [Option ID = 7751]
4 [Option ID = 7752]
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Correct Answer :-
e 1 [Option ID = 7749]
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[Question ID = 1939][Question Description = Q29_28Urdu set1_A]
1. 1 [Option ID = 7753]
2. 2 [Option ID = 7754]
3. 3 [Option ID = 7755]
4. 4 [Option ID = 7756]

Correct Answer :-
e 1 [Option ID = 7753]
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[Question ID = 1940][Question Description = Q30_28Urdu set1_A]
1. 1 [Option ID = 7757]
2. 2 [Option ID = 7758]
3. 3 [Option ID = 7759]
4. 4 [Option ID = 7760]

Correct Answer :-
e 1 [Option ID = 7757]
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[Question ID = 1941][Question Description = Q31_28Urdu set1_A]
1. 1 [Option ID = 7761]
2. 2 [Option ID = 7762]
3. 3 [Option ID = 7763]
4. 4 [Option ID = 7764]

Correct Answer :-
e 1 [Option ID = 7761]
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[Question ID = 1942][Question Description = Q32_28Urdu set1_A]
1. 1 [Option ID = 7765]
2. 2 [Option ID = 7766]



3. 3 [Option ID = 7767]
4. 4 [Option ID = 7768]

Correct Answer :-
e 1 [Option ID = 7765]
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[Question ID = 1943][Question Description = Q33_28Urdu set1_A]
1. 1 [Option ID = 7769]
2. 2 [Option ID = 7770]
3. 3 [Option ID = 7771]
4. 4 [Option ID = 7772]

Correct Answer :-
e 1 [Option ID = 7769]
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[Question ID = 1944][Question Description = Q34_28Urdu set1_A]
1. 1 [Option ID = 7773]
2. 2 [Option ID = 7774]
3. 3 [Option ID = 7775]
4. 4 [Option ID = 7776]

Correct Answer :-
e 1 [Option ID = 7773]
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[Question ID = 1945][Question Description = Q35_28Urdu set1_A]
1. 1 [Option ID = 7777]



2. 2 [Option ID = 7778]
3. 3 [Option ID = 7779]
4. 4 [Option ID = 7780]

Correct Answer :-
e 1 [Option ID = 7777]
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[Question ID = 1946][Question Description = Q36_28Urdu set1_A]
1. 1 [Option ID = 7781]
2. 2 [Option ID = 7782]
3. 3 [Option ID = 7783]
4. 4 [Option ID = 7784]

Correct Answer :-
e 1 [Option ID = 7781]
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[Question ID = 1947][Question Description = Q37_28Urdu set1_A]
1. 1 [Option ID = 7785]
2. 2 [Option ID = 7786]
3. 3 [Option ID = 7787]
4. 4 [Option ID = 7788]

Correct Answer :-
e 1 [Option ID = 7785]
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[Question ID = 1948][Question Description = Q38_28Urdu set1_A]
1. 1 [Option ID = 7789]
2. 2 [Option ID = 7790]
3. 3 [Option ID = 7791]
4. 4 [Option ID = 7792]

Correct Answer :-
e 1 [Option ID = 7789]
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[Question ID = 1949][Question Description = Q39_28Urdu set1_A]
1. 1 [Option ID = 7793]
2. 2 [Option ID = 7794]
3. 3 [Option ID = 7795]
4. 4 [Option ID = 7796]

Correct Answer :-
e 1 [Option ID = 7793]
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[Question ID = 1950][Question Description = Q40_28Urdu set1_A]
1. 1 [Option ID = 7797]
2. 2 [Option ID = 7798]
3. 3 [Option ID = 7799]
4. 4 [Option ID = 7800]

Correct Answer :-
e 1 [Option ID = 7797]
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[Question ID = 1951][Question Description = Q41_28Urdu set1_A]
1. 1 [Option ID = 7801]

2. 2 [Option ID = 7802]

3. 3 [Option ID = 7803]

4. 4 [Option ID = 7804]

Correct Answer :-

e 1 [Option ID = 7801]
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[Question ID = 1952][Question Description = Q42_28Urdu set1_A]
1. 1 [Option ID = 7805]
2. 2 [Option ID = 7806]
3. 3 [Option ID = 7807]
4. 4 [Option ID = 7808]

Correct Answer :-
e 1 [Option ID = 7805]
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[Question ID = 1953][Question Description = Q43_28Urdu set1_A]
1. 1 [Option ID = 7809]
2. 2 [Option ID = 7810]
3. 3 [Option ID = 7811]
4. 4 [Option ID = 7812]

Correct Answer :-
e 1 [Option ID = 7809]
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[Question ID = 1954][Question Description = Q44_28Urdu set1_A]
1. 1 [Option ID = 7813]
2. 2 [Option ID = 7814]
3. 3 [Option ID = 7815]
4. 4 [Option ID = 7816]

Correct Answer :-
e 1 [Option ID = 7813]
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[Question ID = 1955][Question Description = Q45_28Urdu set1_A]
1. 1 [Option ID = 7817]
2. 2 [Option ID = 7818]
3. 3 [Option ID = 7819]
4. 4 [Option ID = 7820]

Correct Answer :-
e 1 [Option ID = 7817]
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[Question ID = 1956][Question Description = Q46_28Urdu set1_A]
1. 1 [Option ID = 7821]
2. 2 [Option ID = 7822]
3. 3 [Option ID = 7823]
4. 4 [Option ID = 7824]

Correct Answer :-
e 1 [Option ID = 7821]
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[Question ID = 1957][Question Description = Q47_28Urdu set1_A]
1. 1 [Option ID = 7825]

2. 2 [Option ID = 7826]

3. 3 [Option ID = 7827]

4. 4 [Option ID = 7828]

Correct Answer :-

e 1 [Option ID = 7825]
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[Question ID = 1958][Question Description = Q48_28Urdu set1_A]
1. 1 [Option ID = 7829]
2. 2 [Option ID = 7830]
3. 3 [Option ID = 7831]
4. 4 [Option ID = 7832]

Correct Answer :-

e 1 [Option ID = 7829]
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[Question ID = 1959][Question Description = Q49_28Urdu set1_A]
1. 1 [Option ID = 7833]
2. 2 [Option ID = 7834]
3. 3 [Option ID = 7835]
4. 4 [Option ID = 7836]

Correct Answer :-
e 1 [Option ID = 7833]
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[Question ID = 1960][Question Description = Q50_28Urdu set1_A]
1 [Option ID = 7837]
2 [Option ID = 7838]
3 [Option ID = 7839]
4 [Option ID = 7840]
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Correct Answer :-
e 1 [Option ID = 7837]
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[Question ID = 1961][Question Description = Q51_28Urdu set1_A]
1 [Option ID = 7841]
2 [Option ID = 7842]
3 [Option ID = 7843]
4 [Option ID = 7844]
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Correct Answer :-
e 1 [Option ID = 7841]
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[Question ID = 1962][Question Description = Q52_28Urdu set1_A]
1. 1 [Option ID = 7845]
2. 2 [Option ID = 7846]
3. 3 [Option ID = 7847]
4. 4 [Option ID = 7848]

Correct Answer :-
e 1 [Option ID = 7845]
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[Question ID = 1963][Question Description = Q53_28Urdu set1_A]
1. 1 [Option ID = 7849]
2. 2 [Option ID = 7850]
3. 3 [Option ID = 7851]
4. 4 [Option ID = 7852]

Correct Answer :-
e 1 [Option ID = 7849]
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[Question ID = 1964][Question Description = Q54_28Urdu set1_A]
1. 1 [Option ID = 7853]
2. 2 [Option ID = 7854]
3. 3 [Option ID = 7855]
4. 4 [Option ID = 7856]

Correct Answer :-
e 1 [Option ID = 7853]
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[Question ID = 1965][Question Description = Q55_28Urdu set1_A]
1. 1 [Option ID = 7857]

2. 2 [Option ID = 7858]

3. 3 [Option ID = 7859]

4. 4 [Option ID = 7860]

Correct Answer :-

e 1 [Option ID = 7857]

:dw;m!mu;—/}}:gﬂjj
d(_E,-br_;r:/?-;LFTgﬁ;,e"'s,w’i;}cﬁ;:” (A)
-L,‘:Jﬁdbfgﬁubd{”’/s&if}/ (B)
-:UTCJ:;.J"" ‘f.‘:d"'/;r’/sd.alsﬁcjf:' (©)

Sl Bl 1 o

- édjﬁ'jgu}/}wuu
B2l @ ©2® (1
D.AlCy @ [§0) PLIRV-VE )

[Question ID = 1966][Question Description = Q56_28Urdu set1_A]
1. 1 [Option ID = 7861]

2. 2 [Option ID = 7862]

3. 3 [Option ID = 7863]

4. 4 [Option ID = 7864]

Correct Answer :-

e 1 [Option ID = 7861]
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[Question ID = 1967][Question Description = Q57_28Urdu set1_A]
1. 1 [Option ID = 7865]
2. 2 [Option ID = 7866]
3. 3 [Option ID = 7867]
4. 4 [Option ID = 7868]

Correct Answer :-



e 1 [Option ID = 7865]
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[Question ID = 1968][Question Description = Q58_28Urdu set1_A]
1. 1 [Option ID = 7869]

2. 2 [Option ID = 7870]

3. 3 [Option ID = 7871]

4. 4 [Option ID = 7872]

Correct Answer :-

e 1 [Option ID = 7869]
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[Question ID = 1969][Question Description = Q59_28Urdu set1_A]
1. 1 [Option ID = 7873]
2. 2 [Option ID = 7874]
3. 3 [Option ID = 7875]
4. 4 [Option ID = 7876]

Correct Answer :-
e 1 [Option ID = 7873]
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[Question ID = 1970][Question Description = Q60_28Urdu set1_A]
1. 1 [Option ID = 7877]

2. 2 [Option ID = 7878]

3. 3 [Option ID = 7879]

4. 4 [Option ID = 7880]

Correct Answer :-

e 1 [Option ID = 7877]
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[Question ID = 1971][Question Description = Q61_28Urdu set1_A]
1. 1 [Option ID = 7881]
2. 2 [Option ID = 7882]
3. 3 [Option ID = 7883]
4. 4 [Option ID = 7884]

Correct Answer :-
e 1 [Option ID = 7881]
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[Question ID = 1972][Question Description = Q62_28Urdu set1_A]
1. 1 [Option ID = 7885]
2. 2 [Option ID = 7886]
3. 3 [Option ID = 7887]
4. 4 [Option ID = 7888]

Correct Answer :-
e 1 [Option ID = 7885]
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[Question ID = 1973][Question Description = Q63_28Urdu set1_A]
1. 1 [Option ID = 7889]
2. 2 [Option ID = 7890]
3. 3 [Option ID = 7891]
4. 4 [Option ID = 7892]

Correct Answer :-
e 1 [Option ID = 7889]
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[Question ID = 1974][Question Description = Q64_28Urdu set1_A]
1. 1 [Option ID = 7893]
2. 2 [Option ID = 7894]
3. 3 [Option ID = 7895]
4. 4 [Option ID = 7896]

Correct Answer :-

e 1 [Option ID = 7893]
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[Question ID = 1975][Question Description = Q65_28Urdu set1_A]
1. 1 [Option ID = 7897]
2. 2 [Option ID = 7898]
3. 3 [Option ID = 7899]
4. 4 [Option ID = 7900]

Correct Answer :-
e 1 [Option ID = 7897]
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[Question ID = 1976][Question Description = Q66_28Urdu set1_A]
1. 1 [Option ID = 7901]



2. 2 [Option ID = 7902]
3. 3 [Option ID = 7903]
4. 4 [Option ID = 7904]

Correct Answer :-
e 1 [Option ID = 7901]
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(IL) (D)«(III) (A)«(IV) (C)«(D) (B) (2)
(IV) (A)(IID) (B)«(I) (D)«(ID) (C)  (3)
(IV) (B)«(IIT) (A)«(ID) (C)}(I) (D)  (4)

[Question ID = 1977][Question Description = Q67_28Urdu set1_A]
1. 1 [Option ID = 7905]
2. 2 [Option ID = 7906]
3. 3 [Option ID = 7907]
4. 4 [Option ID = 7908]

Correct Answer :-
e 1 [Option ID = 7905]
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(IIT) (D)y«(IV) (B)«(I) (C)+(II) (A) (1)

(IT) (A)(IV) (D)«(IIT) (C)(I) (B) (2)

(IV) (AT (D)«(I) (B)«III) (C) (3)

(IIT) (C)«(IV) (B)<«(II) (A)«(I) (D) (4)

[Question ID = 1978][Question Description = Q68_28Urdu set1_A]
1. 1 [Option ID = 7909]
2. 2 [Option ID = 7910]
3. 3 [Option ID = 7911]
4. 4 [Option ID = 7912]

Correct Answer :-
e 1 [Option ID = 7909]
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(IL) (D)(IV) (Cy<(III) (B)(I) (A) (1)
(IDy (D)D) (C)«(I1T) (A)«(IV) (B) (2)
(III) (B)«(IV) (A)«(I) (D)<(II) (C) (3)
(IV) {A)(III) (B)(ID) (C)«(I) (D) (4)

[Question ID = 1979][Question Description = Q69_28Urdu set1_A]
1. 1 [Option ID = 7913]
2. 2 [Option ID = 7914]
3. 3 [Option ID = 7915]
4. 4 [Option ID = 7916]

Correct Answer :-

& 1 [Option ID = 7913]
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(IV) (D)<«(IIT) (C)«(I} (B)<(IL) (A) (1)

(IIT) (A)(IL) (D)(IV) (Cp(D) (B) (2)

(IT) (D)«(IT) (C)(D) (B)«(IV) (A) (3)

(ID) (B)«(IV) (A)(ILL) (C)(I) (D)
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[Question ID = 1980][Question Description = Q70_28Urdu set1_A]
1. 1 [Option ID = 7917]
2. 2 [Option ID = 7918]
3. 3 [Option ID = 7919]
4. 4 [Option ID = 7920]

Correct Answer :-
e 1 [Option ID = 7917]
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(IV) (D)«(I) (CH(IIL) (B)«(II) (A) (1)
(IV) (A)(III) (D)«(I1) (C)«(I) (B) (2)
(IV) (B)«(I) (A)(II) (D)«(III) (C) (3)

(IV) (C)«(I) (B)«(IIT) (A)«(II) (D) (4)

[Question ID = 1981][Question Description = Q71_28Urdu set1_A]
1. 1 [Option ID = 7921]
2. 2 [Option ID = 7922]
3. 3 [Option ID = 7923]
4. 4 [Option ID = 7924]

Correct Answer :-

e 1 [Option ID = 7921]
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(IV) (D)«(ID) (C)«(I) (B)«(III) (A) (1)
(I) (Dy(IV) (B)«(IIT) (C)<(II) (A) (2)
(IV) (D)«(IIT) (C)«(I1) (B)«(I) (A) (3)
(IV) (D)«(I) (Cy(IIT) (B)+(II) (A) (4)

[Question ID = 1982][Question Description = Q72_28Urdu set1_A]
1. 1 [Option ID = 7925]
2. 2 [Option ID = 7926]
3. 3 [Option ID = 7927]
4. 4 [Option ID = 7928]

Correct Answer :-

& 1 [Option ID = 7925]
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(IV) (D)«(IIT) (C)(II) (B)«(T) (A) (1)

(IL) (D}(I) (C)<(III) (B)«(IV) (A) (2)

(III) (D)«(IV) (C)«(I) (B)«(II) (A) (3)

(I) (D)(ID) (C)«(IV) (B)«(I1I) (A) (4)

[Question ID = 1983][Question Description = Q73_28Urdu set1_A]
1. 1 [Option ID = 7929]
2. 2 [Option ID = 7930]
3. 3 [Option ID = 7931]
4. 4 [Option ID = 7932]

Correct Answer :-
e 1 [Option ID = 7929]
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(IIT) (D)«(I) (CH(IL) (B)«(IV) (A) (1)

(I) (D)«(I1) (C)«(IV) (B)«(I1I) (A) (2)

(ILT) (D)«(I) (C)«(IV) (B)(1I) (&) (3)

(I) (D)«(IV) (C)«(II) (B)«(III) (A) (4)

[Question ID = 1984][Question Description = Q74_28Urdu set1_A]
1. 1 [Option ID = 7933]
2. 2 [Option ID = 7934]
3. 3 [Option ID = 7935]
4. 4 [Option ID = 7936]

Correct Answer :-
e 1 [Option ID = 7933]
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(IV) (A)(IIL) (B)(IL) (D)«(I) (C) (4)

[Question ID = 1985][Question Description = Q75_28Urdu set1_A]
1. 1 [Option ID = 7937]

2. 2 [Option ID = 7938]

3. 3 [Option ID = 7939]

4. 4 [Option ID = 7940]

Correct Answer :-

e 1 [Option ID = 7937]
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[Question ID = 1986][Question Description = Q76_28Urdu set1_A]
1. 1 [Option ID = 7941]

2. 2 [Option ID = 7942]

3. 3 [Option ID = 7943]

4. 4 [Option ID = 7944]

Correct Answer :-

e 1 [Option ID = 7941]
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[Question ID = 1987][Question Description = Q77_28Urdu set1_A]
1. 1 [Option ID = 7945]

2. 2 [Option ID = 7946]

3. 3 [Option ID = 7947]

4. 4 [Option ID = 7948]

Correct Answer :-

e 1 [Option ID = 7945]
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(D)« (C)«B) (2) (D)« (C) «(A) (1)

(C)¢(B)«(A) @) (D)« (B) «(A) (3)

[Question ID = 1988][Question Description = Q78_28Urdu set1_A]
1. 1 [Option ID = 7949]
2. 2 [Option ID = 7950]
3. 3 [Option ID = 7951]
4. 4 [Option ID = 7952]

Correct Answer :-
e 1 [Option ID = 7949]
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[Question ID = 1989][Question Description = Q79_28Urdu set1_A]
1. 1 [Option ID = 7953]
2. 2 [Option ID = 7954]
3. 3 [Option ID = 7955]
4. 4 [Option ID = 7956]

Correct Answer :-
e 1 [Option ID = 7953]
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[Question ID = 1990][Question Description = Q80_28Urdu set1_A]
1. 1 [Option ID = 7957]
2. 2 [Option ID = 7958]
3. 3 [Option ID = 7959]
4. 4 [Option ID = 7960]

Correct Answer :-
e 1 [Option ID = 7957]
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[Question ID = 1991][Question Description = Q81_28Urdu set1_A]
1. 1 [Option ID = 7961]
2. 2 [Option ID = 7962]
3. 3 [Option ID = 7963]
4. 4 [Option ID = 7964]

Correct Answer :-
e 1 [Option ID = 7961]

12'36;56#;75‘4)&!&;;%;
Qi hF-03-Usf
Aet-Uf-Gx-0)  ©
O 3-Qe-Lsf-LsF o
UsA-J1p-bé-0% @

[Question ID = 1992][Question Description = Q82_28Urdu set1_A]
1. 1 [Option ID = 7965]
2. 2 [Option ID = 7966]
3. 3 [Option ID = 7967]
4. 4 [Option ID = 7968]

Correct Answer :-
e 1 [Option ID = 7965]
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[Question ID = 1993][Question Description = Q83_28Urdu set1_A]
1. 1 [Option ID = 7969]
2. 2 [Option ID = 7970]
3. 3 [Option ID = 7971]
4. 4 [Option ID = 7972]

Correct Answer :-
e 1 [Option ID = 7969]
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[Question ID = 1994][Question Description = Q84_28Urdu set1_A]
1. 1 [Option ID = 7973]
2. 2 [Option ID = 7974]
3. 3 [Option ID = 7975]
4. 4 [Option ID = 7976]

Correct Answer :-
e 1 [Option ID = 7973]
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[Question ID = 1995][Question Description = Q85_28Urdu set1_A]
1. 1 [Option ID = 7977]
2. 2 [Option ID = 7978]
3. 3 [Option ID = 7979]
4. 4 [Option ID = 7980]

Correct Answer :-
e 1 [Option ID = 7977]
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[Question ID = 1996][Question Description = Q86_28Urdu set1_A]
1 [Option ID = 7981]
2 [Option ID = 7982]
3 [Option ID = 7983]
4 [Option ID = 7984]

A W N -

Correct Answer :-
e 1 [Option ID = 7981]

7 AL 22 4T b I T st Ll P U 3 5550 Lk L bl s
:a’_'_.l:f/d,c["ﬁtj.._.ffﬁa.wu

E L2 L7278 - (s

Sl L Loshirvifin « b
-:.wg-abg&l:ulé_;:wu{:ifa (1)

-q_..:.w,-:di';-a.'_.uffamﬂf:*: 2)

-d_-u’:T m;—;dfj-é_.-af',-:dfj (3)

dé..uﬂ&;adéddjﬁ_.d:r&»df} (4)

[Question ID = 1997][Question Description = Q87_28Urdu set1_A]
1. 1 [Option ID = 7985]

2. 2 [Option ID = 7986]

3. 3 [Option ID = 7987]

4. 4 [Option ID = 7988]

Correct Answer :-

e 1 [Option ID = 7985]
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[Question ID = 1998][Question Description = Q88_28Urdu set1_A]
1. 1 [Option ID = 7989]
2. 2 [Option ID = 7990]
3. 3 [Option ID = 7991]
4. 4 [Option ID = 7992]

Correct Answer :-
e 1 [Option ID = 7989]
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[Question ID = 1999][Question Description = Q89_28Urdu set1_A]
1. 1 [Option ID = 7993]
2. 2 [Option ID = 7994]
3. 3 [Option ID = 7995]
4. 4 [Option ID = 7996]

Correct Answer :-
e 1 [Option ID = 7993]
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[Question ID = 2000][Question Description = Q90_28Urdu set1_A]
1. 1 [Option ID = 7997]
2. 2 [Option ID = 7998]
3. 3 [Option ID = 7999]
4. 4 [Option ID = 8000]

Correct Answer :-
e 1 [Option ID = 7997]

Topic:- 28Urdu set1_B
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[Question ID = 2006][Question Description = Q91_28Urdu set1_B]
1. 1 [Option ID = 8021]
2. 2 [Option ID = 8022]
3. 3 [Option ID = 8023]
4. 4 [Option ID = 8024]

Correct Answer :-

e 1 [Option ID = 8021]
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[Question ID = 2007][Question Description = Q92_28Urdu set1_B]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

Correct Answer :-

e 1 [Option ID = 8025]
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[Question ID = 2008][Question Description = Q93_28Urdu set1_B]
1. 1 [Option ID = 8029]



2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

Correct Answer :-

e 1 [Option ID = 8029]
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[Question ID = 2009][Question Description = Q94_28Urdu set1_B]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

Correct Answer :-
e 1 [Option ID = 8033]
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[Question ID = 2010][Question Description = Q95_28Urdu set1_B]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

Correct Answer :-
e 1 [Option ID = 8037]
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[Question ID = 2011][Question Description = Q96_28Urdu set1_C]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Correct Answer :-
e 1 [Option ID = 8041]
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[Question ID = 2012][Question Description = Q97_28Urdu set1_C]
1. 1 [Option ID = 8045]
2. 2 [Option ID = 8046]
3. 3 [Option ID = 8047]
4. 4 [Option ID = 8048]

Correct Answer :-
e 1 [Option ID = 8045]
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[Question ID = 2013][Question Description = Q98_28Urdu set1_C]
1. 1 [Option ID = 8049]
2. 2 [Option ID = 8050]
3. 3 [Option ID = 8051]
4. 4 [Option ID = 8052]

Correct Answer :-
e 1 [Option ID = 8049]
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[Question ID = 2014][Question Description = Q99_28Urdu set1_C]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

Correct Answer :-
e 1 [Option ID = 8053]
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[Question ID = 2015][Question Description = Q100_28Urdu set1_C]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

Correct Answer :-
e 1 [Option ID = 8057]



